Concept Lecture -5




36 men can do a piece of work in 25 days,
in how many days will 15 men do it?

36 SAfFd UH HH & 25 RaAl &
FFha &, 15 gfFa 38 &1 1 Fas
foar & F4E?

/%o b) 30 ¢) 40 d) 50




39 persons can repair a road in 12 days
working 5 hours a day. In how many days
will 30 persons working 6 hours a day
complete the work?

39 =gfed yfafed 5 ¢ HH FT 12
ﬁﬁﬁwma‘»’rmﬁ T Hhd
gl @ 30 =ufFq vfafed 6 e &
X frasr R F s A Q@ AA?
a) 10 13

c) 14 d) 15




lox6 xI18 = A xIBEXZ

10 men working 6 hours a day
can complete a work in 18 days.
How many hours a day must 15

men work to complete_the-sante
work in 12 days?

UF AT A 6 €T FT F 10

\3'{6 b) 10

c)12 d) 15




working 8 hours a day

can empty a tank in 2 days. How
many hours a day must 4 pumps
work to empty the tank in 1 day?

2
2 = U IxHh Rt # 8 6 P B A 3
BX/Q/X % 99 2 & & U S S grei
L TFd 81 1 T H fr A
el & & T 4 99 &)
Th fed & fFaad g¢ &&H
HIAT AMRT?
a) 6 b) 18
024  H12




If 72 men can build a wall of 280 m length in
21 days, how many men could take 18 days
to build a similar wall of length 100 m?
% afg 72 qeW 21 f&at 7 280 ol
i QAR FT QAT FT TFS §, o Fa=
X2 _ mxA% w9 18 R F 100 A N AW
284 log Sar = A2

230 b) 10 c)18 d) 28

20=




2% B 5

§

g=49

20 men can build a 56 meter long wall in 6
days, what length of similar wall can be
built by 35 men in 3 days?
20 IfFT 6 el A 56 Hiex &t dar
1 Whd §, 3 fa& # 35 afaaal
@Rt frasr ey @l A AR &
fa&Tor fRar ST war 87

A9 b) 42 c) 64 d) 140




PXPxF _ N« NxN

F

W= N’

P’L

Y,

If P men working P hours per day for P days
produce P units of work, then the units of
work produced by N men working N hours a

day for N days is
afe P ooy gfad oot p e #10 T p fRa

H FH Y P THEA FT IcUET F &,
I N Q39 N 6 W T N &t & o
aﬁr%ﬁm@mmaﬂﬁ"

a) b) )2z J,Z—




4 mat weavers can weavin 4 days.
At the same rate how many mats would be
woven by 8 mat weavers in 8 days?

4T gAY 4 & F 4 A< 7 ¥Fa T
wawsﬁa’rﬁsﬂzamaﬁm
fFasr #dc 9 IR

a)8 16 c) 12 d) 32
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20 men can eaof rice for 20 days. For

how many days 10 men can eat 10 kgs of rice?

20 gfdd 20 T d& 20 kg dGe @

FHhd § @ 10 AFT fraar &t a 10 kg
?

EICCEKC] ?
;’e,x;lo 0{)(/,;9/ a) 10 20 c) 15 d) 40

| | 10



5 +4-
ke dxas
1o~ /6?)633—

15 =d

A wall of 100 meters can be built by 7 m‘/en

10 women in 10,41@5. How many days

will 14 men and 20-wemen, take to build a
wall of 600 meters?

100 #Hlex &1 d@R 7  qEE A 10
Afgenat garT 10 &Y F qA1$ I Fehhl
€l 600 #AIEX I AR FA H 14 Toul
3y 20 Afemat Fr fFaa R w@?

Al15 b)20 )25 d) 30
7m= 10w
IUm=2 0w




A Y Z
bx6X 8 _ bylex5
456 425
Ve a5

If the expenditure of gas on burning 6 burners
for 6 hours a day for 8 days is{ Rs.450/ then
how many burners can be used for10 days at

5 hours a day for[Rs.625?)

IE 6 T F 6 U Yidieed 8 &t a=+
e U AT FT TT 450% &, ar Fda
g0 #1 5 "¢ yfafesT 10 kAT aF o=t
W A FT FT 625F FHEM?

a) 12 b) 16 c)4 JS




A certain number of persons can dig a trench 100
m long, 50 m broad and 10 m deep in 10 days.
Twice number of persons can dig another trench

/P/x,,,a/ Z/P X230 20 m broad and 15 m deep in 30 days. The length

of second trench is?

-Q,xgexﬁwﬁﬁaamﬁalﬁ?rm &=t & 100
'OOX‘SS‘XM #Hiex &, 50 #Aer a9l 3R 10 HAex T
@ﬁwm%l—aﬁaﬁaﬁrmmw

Q=000 fat & zo:ﬁaa’rﬁrsﬁtﬁmammé
Qe Fhd §) A qudl @I§ A d«rg T4 g2
a) 500 /1000 c) 750 d) none




30 men working 14 hours a day can build a
school of 10 rooms in 38 days. How many

7 % X children are required to build a hospital of 15
X 5853 Cx 571 &6}/2’“"‘5 in 57 days working 6 hours daily? The

—ratio of efficiency of men and childrenis 3: 2.
e J5- 30 99 gRfeT 14 € FW F& 10
FAU & AT 1 38 AT # a9 §
15 FAAN & TH FEqdid & gfafeer 6 ae
| o =C HH F&F 57 BT & o= & v fraar
= AIRT? TF OV IR uH g #f;
&THAT T 9T 3:2 ¢
2100 |\ Jf105 125  d)none
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